
1-m P(y,t) = 3ty - y2 t ryct,

Ui

8F
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= 3y t p'(t)
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= N
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yrct,  = $"(t)dt
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nl5~li3~5~naurta~d~n5~  (integrating factor)
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F(y,t) = ye t $fct,
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Ydtdt

yes- _ weJ-dtdt = , cJ
-sLz.t J sudt

y(t) = e cc+ we dt)
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dt)
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I

SYdL
we dt)
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g+x, = t

iJEll u = 2t

uati w= t
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I
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J
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Y(t)  = e-”  CA +. be” d(at)  ,
a

.

= Ae-”  + b
a

I Beneral  solution

7-m y(t) = Ae-" + 6
a

LiO  t q 0: y(O) = A&b

a

= At!
a

A = y(O) - b
a

y(t)  =
b -mt

[y(O)  - -1e t b
a a

: definite  solution
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t  #~lEii5  L?al ( t i m e )





y(t) = e -I

y = I

u = -p(t)s(t)

W = 0

$udt = J-&'(t)s(t)dt
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1
P(tIs(t)dt  = ;abt3 I wd1aaR

I(i) = Ae
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:
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I(t) = I(Ole
:abt3
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I

1

Cdl(t)/dtl I(O)abt'  e
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=
I(t)

I(O) e
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